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B I /3% (Listening Comprehension)

—. I HEN SR fOEE

«ﬁ#ﬁtﬁﬁ"’?ﬁﬂ»XT#E#EE&%%F%ﬂfﬁ@JM?*%x “BE 0T I PE R 5 Xt
BHRE. AFLEMa, XA FRFEHE. #EN 120wpm B968, —RTTLIOTHE, H%
MEREEL 70%,.” KREXEFNRREE AV HE o OLEREELERITH.

HBEREAES A Y (Section A) FIB F (Section B) H#4r. A ¥ 10 |, G
—HAXNFER—TRELAR. M EH—BFE-KAERT, TEBEB=FFF (the Third
Voice) MIRFNFHAITRE . BV 108, SARHEETREXZE, SRF 218, §
BH—ma), —BF (BLH) BEE-REXEE—XF (FEBA BXENFREME.
A, BEVHEER NG 120 BiGEA, STRIEESR 15 B0EE, 508 E
ﬁﬂﬂ@]lﬂ’?‘ﬁ;ﬁ@i*?ﬁ&“‘”f‘ﬁﬁ%* W Ak B A i — i, SR —4, 3t
20 43,

= THERHAE

H 1988 £ UHBRBEFHERLATUR, BB#T THE TR LHHIE, RATFF—HFEAN,
¥ 1990 4E 1 Y ADSH2 %R 1991 4F 6 I #) 4FSH1 %W . 51, & RIS Mt %)
Hmitt. RIFOCBEHFHEAXRTS, RBNLITHERM AN EENE.

Lo R SXEBERE AN RE T RN EEEEMURE], RS W Rst
HalF#.

# D

W: Bob, are you going straight home after school today?

M: No, I have a class until one o’clock and after that I’m going to spend a couple of
hours at the library before going home.

Q: When is Bob going home this afternocon?

A) Around 5. 00. C) At 2: 00.
B) Around 3. 00. D) At 1: 00.
BAEEE 1 QTR BERTSL EEBE, FFUERNY 3 ABAER, HIEB,

] 2)

M. Have you seen my brother?

W. No, I haven’t seen him since the day before yesterday.
Q. When did she last see the man's brother?

A) Yesterday. C) Two days ago.
B) Three days ago. D) Early last week.

LAEEEHMRERRLBMEEG LS, BMAXWE, FLECc,

2. g GEWERBEBEMNFBENE, BIRBERPXRBERRERIEREN
b 5, B A 4A) BlH 2 Where does (did) this conversation most probably take place? G X
HEB XM S EM,
1



£ 3

W: Hurry up, please, or I'll be late!

M. Sorry ma’ma, but the traffic is thick this time ¢f day.
Q: Where does the conversation most probably take place?

A) In a ship. C) In a train.
B) In a jet plane. D) In a taxi.

BEXFMENRBESOY, NARESAVLZ HEZR. %&QE% Feh Al TR
WAL XMTTRE, B4 D,

& 4
M: How would you like going to the movies with me?
W . I'd like to. But I have to go to the bank first and then my friends and I are going to

a concert.
Q : Where will the woman go first?
A) To a concert. C) To meet her friends.
B) To the bank. D) To see movies.

ﬁﬁ&ﬁﬁ*ﬁ%&mﬂnﬁﬂﬁ,EEiﬁ%i XRERNEN, FEFEIILL
WEFZEEER, FHEEME, FHERERE. XE, BRLFREREEZERE, HiZ23
REIEITE M, TN EEB,

3. BF  BFRE—BWEEE. B, g, %@&%ﬁ%ﬁ% BF—HAK, H
AAERESTMEITH.

& 5)

M : That’s a nice bike. Is it new?

W . No, I got it almost five years ago, but it’s still in good condition.

Q: How old is the woman’s bicycle?

A) Five years old. C) Six years old.
B) Four years old. D) It is new.
XS R IE AT R4S, BIV[CE BRI, LEEERTFEURME, BUEA.

&) 6)

W I want a single room with a bath. What’s the rate?
M : It’s 8 dollars a day.

Q: How much does she have to pay if she stays for 3 days?

A) 20 dollars. B) 15 dollars. C) 24 doliars. D) 21 dollars.

XfpaEEET AR, EER X 8T, 3 KRBM 24T, #EC.

4. HEHABRA WA ZEBRERENEENTREFEZHT, A BHHIER
Bk

e

W Shall we have an English test this afternoon?

M: It is postponed because the teacher has to attend a meeting.

Q: What do we learn from this conversation?

A) The teacher postponed the meeting.



B) There won’t be a test this afternoon.
C) The students will be attending the meeting.
D) The students will take an English test this afternoon:

BN EMEF &, FUAHEHEE. RE T RRIED7VBENNE, A BELERAIN, 2%
#B,

%l 8)

M : Excuse me. Would you please tell me when the next flight to Los Angeles is?

W Sure. The next direct flight to Los Angeles is two hours from now. But if you do not
mind transfering at San Francisco you can board now.

Q: What can you learn from this conversation?

A) The man wants to go to Los Angeles.

B) The man wants to go to San Francisco.

C) There are no flights to Los Angeles for the rest of thé day.

D) There are two direct flights to Los Angeles within the next two hours.

TEEERK, AMUESTBHEGES, MHEHTRR. EARTEASRIANEMN
HX AT, % A BT,

5. A% BRBEREAS, RRREER -FRBRIRMSEH. Bk, S80S
W Z BIHIRR . GEH AT AR — 2o e @A R m A BN .

# 9

M : What do you intend to accomplish with these children?

W I will teach them to read, to write and to get along with each other.
Q: What is the woman’s job?

A) Doctor. B) Nurse. C) Professor. D) Teacher.

BREXFEEHBILEZNENAL, ATUREHATILN AHIN, %iED,
&) 10)

W . Have you found anything wrong with my stomach?

M : Not yet. I’'m still examining. I'll let you know the result next week.

Q: What is the probable relationship between the man and the woman?

A) Husband and wife. C) Doctor and patient.
B) Father and daughter. D) Teacher and student.

LEMECHERTAEN, BEEREERFHARE, TS MITREERNKRAKX
£, wikcC,

6. ARX 2 —BUE, MREGRFTENERERLS, TRERER, E¥L why KR
M. XEPE_AEEHFREE, A, EEAHERPHHRE - AHHEZ.

# 11)

M : The students’ English club is having a party on Saturday night. Can you come?
W I would like to. But I work at a restaurant on weekend.

Q: Why can’t the woman go to the party?

A) Because she has got an appointment.
B) Because she doesn’t want to.



C) Because she has to work.
D) Because she wants to eat in a new restaurant.

YAHEEENARBEREITL, FUAESMARIRSE, Wk C.
# 12)

M : Nancy, why were you late today?
W I overslept and missed the bus.
Q: Why was Nancy late?

A) She got up later than usual. C) She forgot she had classes.
B) The bus was late. D) Her clock was slow.

B9 Nancy B T3k, RTFE, #uUER., #A.

7. 4% XREE—RBEE. SEMBITENTFHRIEARE. OLER, FERLD
S RN, FREHFRHERNER.

# 13

M: You didn’t go to the concert last night either, did you?
W: No, I had a slight headache.
Q: What do we learn from this conversation?

A) The man went to the concert, but the woman didn’t.
B) The woman went to the concert , but the man didn’t.
C) The speakers did not go to the concert.

D) Both speakers went to the concert.

BEEE . “URUBET Feeeer g e” (didn’t go+** either) BN BFERIRIEAES TG RE, &
FEEHRERE, RARENTERE, Bakc.
# 14>

M : Do you think we should invite Peter here for dinner?
W His mother’s in hospital.
Q: What does the woman mean?

A) Peter is ill.

B) Peter cannot come.

C) Peter’s mother is coming for dinner.
D) Peter will come with his mother.

FAERREH Peter HIERE, XFRAFEZEE, REY Perer BIBREMLR, B
Peter 8 B BT MM EEE, FREFIR, FLLEB.

=. BBE%

EEERIFESEAY). WBRWAHES. BERYHERMIAZREANEM L, £4
ER-FHRETFERTVLERN, HHM. SHETUESEERRMRERESRESS
NAKKE, BERFMERES. TEAFILFEHYFE.

1. A £ MB5 &
1) EBEFER
ERFZA, ENE TR, BRAELE. IBRGEFILIEFL. OTMFTHNE, #



FHELERE QRARBEAVHNE, HNaSIFEREASETIAMNE. B
R—EAL. HA. BFE, TEXTHRER, FRRGHE BLXFHHBEV, R
RAH UK, OEMFAGER L, MEMAVHXAT, REHNREK.

EREERRZN, EER BRI FREN. A RRAE. HRLER
BRAAT, STRSWE—, HOREFEH, HAS—BEE.

EFEELZ A 15 B R, SETPIA 78 DIAE, HEE—LE, REA
R T 7—8 DREE T —EBORET, (OKAHE, MR T BAN RTINS ELETF %
B, KRBT, R T —LEN ST, LIRS BT TR S R
MBS KA. BE, BHARENE (SEERNRERST) AA—ESTEE, MRAR
S5EE, Wi C .

2) &M

BETANRE, ANHRK. ANSERTEERS. WABEABKN, RHLE
T, ARAL. A, THAERE, FEETFOMARIERFE, UTETRE
AL | '

7 1)
A) For protection against other animals.
B) For protection against other dogs.
C) Just for fun. .
D) For the purpose of guarding the house-_

) 2)
A) The train is crowded. C) The train is empty.
B) The train is late. D) The train is on time.

# 3)
A) The woman goes to school during the day and works at night.
B) The woman has to work to support herself.
C) The woman’s classes are not difficult. '
D) The woman studies at night.

i 4
A) Because they did not eat other animals.
B) Because they were useful for protection.
C) Because they were good hunters.
D) Because they always obeyed their masters.

ULERF, MEHT ERHEAZE, LUFTERHEL

3) H[E1EE
XER—FBREDNRETE, BTLENEEHRERYE, XTUREEENER.
b, BFRATHREMR.

] 5)
A) About 7 o’clock. C) About 9 o’clock.
B) About 8 o’clock. D) About 10 o’clock.
Fa gt WM, FHEX R ER X B A ENRE, L, ERENREER Y.
L 073

W.: What time is it now? My watch says eight past ten.



M: Let me see***You are seven minutes fast.

Q: What time is it now?

AMATLLAIE, KPR I0RFT 84, TR 74040, BLENNK 10 &, B&ED. X, HL
TiEEm.

6
A) The train is crowded. C) The train is empty.
B) The train is late. D) The train is on time.

LT, NEREESAXERENEWERX, 4058 “The train is somewhat behind
schedule” B, AT A R B A RT[RELE B, Y4IA B “What can you conclude about the train
from the conversation?” 1, HFIU\EBLHE B,

4) PEXRIAE
A, BERBITHIREHLWHEY, ANESREFRIRENEEAS, HBaTHE
T—ARETARBIEAE, BRTUREZBIHBGE SR, NTTERERNER.

w7

W: Would you like to see a menu?

M : No, thank you. I already know what I want to order.

Q: What is the probable relationship between the two speakers?

A) Patient and doctor. C) Wife and husband.
B) Waitress and customer. D) Secretary and boss.

HHEMBEW L “menu”, “order” XWA-BIF, EA LRMTTUREREN T M ALHANS
BEMRE, MEHEB.

] 8)

W : Did you read the review of Jim’s novel in today’s paper?

M. Yes, he seems to have discovered a new career in literature.
Q: What is Jim now?

A) A novelist. B} A singer. C) An artist. D) A businessman.

HESHEFHE B “Jim’s novel”, “a new career in literature”, U0 LAWY E Jim BLEERY
BALAER kA,

5) FREEAR
WL HL B LRI, MRS HAARX R, FUAFER—E0r SRS,

# 9)
W: How often did you write home?
M : I used to write home once a week.

Q: What do you understand from the man’s answer?

A) He enjoys writing home every week.
B) He never fails to write a weekly letter home.
C) He doesn’t write home once a week now.

D) He has been asked to write home every week.
“used to do something” H—EE R, BRI EIRTTER. I—FEARAXF

KPRV, BAEK A “used to write home once a week” BRI EZBRAE—H{FEK, ki
6



F N R RH R, Btk c,
) 10)

M. If the traffic wasn’t so bad » I could have been home by 6 o’clock.
W.: What a pity! John was here to see you.
Q: What happened to the man?

A) He had to work overtime. _ C) His car ran out of gas.
B) He was held up in traffic. D) He had a traffic accident.

BERERNEBIES, RRELRARAMS, BIER S MEAERE, K6 K
IRTEERRE, B B.

6) g RicE

EVFHREE, f—SHEMiCRERETLEN, BEAANMBETE RGNS, #0145, i
B, MFERE, FHEVTINE, REFRE. —EXHE, RXEEEFRE. FTEFE, B
BB LRI E. HANRMITHEE, SRRAEHLHE. CRARWELH, mHLEe
. BFEE, SAACAENTTHANEERS.

11D

M: I have only 10 dollars Is it enough for 3 tickets?

W Well, you can buy 3 § 2 tickets or 3 $ 3 tickets, whichever you prefer?
M : I'll take the cheaper seats, please.

Q: How much money will the man have after he buys the tickets?

A) $10. . B) $9. C) $4. D) $1.

EVFERFN, iI2T#H 10T, BX3KR. BIiCTHRHMEHR, —f3x, —f 2T,
BCTEXFERM—FM. BRIRERY)SE, BIFHE 10—-2X3=4 (o), #uEC.

#12)

W: What time will the game start? _

M. It’s scheduled to begin at ten o’clock » and now my watch says 9: 45. It won’t be
long.

Q: How long will they have to wait before the game start?

A) 30 minutes. B) 20 minutes. C) 15 minutes. D) 10 minutes.

BT IR 10 K80, BMAED 9. 45, CBXE, FAMTLUEN T A U4
LRHFEE,. RRYTBIFRREBFSALEA TN, BiAlikC,

T) BEBEE G H R E5HE

EVERENENHER L, FEERMERE LGRS, 48AHXEmETESR, &
HIERKER. KL, BERANTASER, TURBREEXTHARNER, RBEE
R RAEREK, '

W S BRI A R 1 5 R B R B RARHITRN . EMHERNEBRXNWHEERS.
Frb, 40 AHB, B—ABHN “Are there any--” JER L, HAEA wh M8, HP, U
what 2[4 21 &, 54 KEH; YU why ERIHE 10 E, FRBFRD HKEKKA: K when
#2049 4 B, how 2, which J where & —. A EBIBEMEE 2 BilE, A FAAZFHEITFE X,
HEA - TEHRBRE RO ESHE, XEFENTUERY.

REMERZREH, BRAETR. UTFLAAREERER, BEHATHEEHNE.

1) What do (can) we learn from this conversation?



2) What is the probable relationship between the speakers?

3) Where does this conversation most probably take place?

VLS5 —4] “What do (can) we learn from the conversation?” X%, # LRI
F, REHT 6K,

2. A RELYHMEF E

WAEMBYB VEXNH IS HEXAR . BREXEER -4 ERE. EXHABEL KK,
RERHIR AN, HEED, HERE. HEXSK. AWEiE. ERRES.

REHATER TS HFE: 1 X EEREHPOCRE; 2. EXREHEXRET,
metlE]. K. B ADE.

#13)
Passage Three
Questions 17 to 20 are based on the passage you have just heard.

17. A) For protection against other animals.
B) For protection against other dogs.
C) Just for fun.
D) For the purpose of guarding the house.

18. A) Because they did not eat other animals.
B) Because they were useful for protection.
C) Because they were good hunters.

D) Because they always obeyed their masters.

19. A) For companionship. C) For protection against robbery.
B) For amusement. D) For hunting.

20. A) The city can be a lonely place.
B) Life in the West can be very dangerous.
C) People in the West are fond of animals.
D) The dog is a useful and friendly animal.

Wy 1 IR 3R -

When you take a walk in any of the cities in the West, you often see a lot of people
walking dogs. It is still true that the dog is the most useful and faithful animal in the world.
But the reasons why people keep the dog have changed. In the old days people used to train
dogs to protect themselves against attacks by other beasts. And later, they came to realize
that the dog was not only useful for protection but willing to obey his master. For example,
when’people used dogs for hunting, the dogs would not eat what was caught without
permission. But now people in the city need not protect themselves against attacks from the
animal. Why do they keep dogs then? Some people keep dogs to protect themselves from
robbery. But the most important reason is for the companionship. For a child, a dog is his
best friend when he has no friend to play with. For young couples, a dog is their child when
they have no children . For old couples, a dog is also their child when their real children have
grown up. So the main reason why people keep dogs has changed from protection to

friendship.

1=l 8 -
8



17. According to the passage, what were dogs trained for in the past?

18. Why were dogs used for hunting?

19. What is the most important reason for people in the city to keep dogs now?
20. What is the main idea of this passage?

#17—19 @ﬁ%ﬂj@]?ﬂ@?ﬂ]_ﬁ?[ﬁ]@g i T “In the old days people used to train dogs to
protect themselves against attacks by other beasts. ” FEWJ[EE 5 17 B4 BT 4+ 2 HHE
B, 1% A; W “---willing to obey his master--*when people used the dog for hunting---. ” %k
w] DA EES 18 M2 A MITENMRE, & D; #E “But the most important reason is for
the companionship. ” FER[LAEE S 19 IR AEM T AF KRR, & A. 55 20 BRIFEI£3C
WEERE, SIEWELX, TRASE, AEEANESEPHIEMESFRANER L, 7
BB IEFRRYIEEE, B D, »

HESCRET S, AIRERUTILM T

D EEEET ., XEEEAXF ERREERINNE, HEKHNE XN NESTEE
AR, WFHENAOCEES.

2) MRS FE. EWNEFNEE, Rulsiuy—8 AL, e, F£XR. B, ZFEH
REEAFRILTE, HERANEWFHNAEEEMAIINEEMESEM EicS, LMERNEZ R SR
HHE,

3) W E A, EEAERE -BXFHPOEE, mEErrE, N T HRZEXFHIKE.
FEA—BEBEEFE - ARE_A, ARHEERE. FFU, EFPEITHF L —BREREE
# . DIBTE A& A, B8 4] “It is still true that the dog is the most useful and faithful
animal in the world. ” B & 84, MERSAHAX —HIT, AIMAXAAMELRE, BEW
2 AR H BT A '

O AP F—A—-aHEE. EXE-SHEKE, BRAINAERE., —Bikk, HEGE

U 70%0 Y AU — BB, R RER LEEEEY . FEEES OHCER
AR, EERRAMEE. ik, ERTR—-ARE—ATHEN, FAEFESREE, B
AELEWEEBAEE, MERZZEMENNE, IHESHREEL. TAHERIIMAN
B REBETH XEME, RS #HTH T, A EEN, BHEHERNER.

5) Ri2BMFALM —F. | FFMER, Z4E G0 BRI AL RE, EXFELT, M
REFZARE., TERSHENERSREBEUREE ST SERNHHERD &, HUbHE
— P, WC, XHEH 25X EXNHILE.

AT BIVEHE — 2510 .

] 14)

Passage One
Questions 11 to 13 are based on the passage you have just heard.

11. A) 4000 years ago. C) 2000 years ago.
B) 3000 years ago. D) 1000 years ago.

12. A) The small bowl was put above the large bowl.
B) The large bowl was put above the small bowl.
C) The small bowl was put inside the large bowl.
D) The large bowl consisted of two equal parts.

13. A) Horsemen. B) Brass doors. C) Drops of water. D) Metal balls.

TS SR BRI, A A R BHE 5 11 RS T AT R, B S IR R o B 15 B HE S5
' 9



B 12 BRRERAXE—YRMOEHLE, Bk, 475X bowl HiFAH BN, SEMAR
MY F 13 BAKEHM, TEEHLTE.
W H P BARFN

The water clock was an ancient clock. It could be used on cloudy days, at night and
indoors. Such clocks were probably used in Egypt first about 2000 B. C. They were also used
for many years in Arabia, India, China and all over Europe. The simplest water clock
needed just two parts, a small bowl and a large bowl. The small bowl had a tiny hole in the
bottom; the large bowl was divided into equal parts and marked by lines. Water was poured
into the small bowl and it fell slowly down into the large bowl in tiny drops. Usually it took
an hour for the water to rise from one line to the next in the large bowl. A beautiful water
clock was made in Pajam over a thousand years ago. It was presented as a gift to the emperor
of France. This water clock could be heard as well as seen. The dial of the clock was made
up of 12 doors, each representing an hour. Every hour a door opened and a proper number of
metal balls dropped onto a thin brass plate to strike the hour. At 12 o’clock, 12 tiny
horsemen came out and shut all the doors. This was probably one of the first striking clocks.

11. When was the first water clock probably made?
12. What do we know about the structure of the simplest water clock?
13. What did the striking water clock use to strike hours?

W IF$| “Such clocks were probably used in Egypt first about 2000 B. C.” &f, A[id T
2000 B. C. ; 74 E| “The simplest water clock needed just two parts, a small bowl and a large
bowl+* Water was poured into the small bowl and it fell slowly down into the large bowl in
tiny drops. ” B, A[7ESE 12 B A HFH—id 5, EAXHE ZEIMESGHHE. F%R, L3
% 11 S48 7 “When was the first water clock probably made?” B}, Bl ] $ ] B5 444 4000 4¢,
HEA, BITHE 12 M “What do we know about the structure of the simplest water
clock?” Bf, T[RRI A. EFH 138, MEWRETHXAT, TUBZEE; H
MEWAHIEAELHE, STUSESEXER, RENFHMZEEE, YA SERR
ATHER Y, Bk D.

10



FFE [RFEEME (Reading Comprehension)
_

—. REHEH

RIE (REBUEE AR BXR, FEFRNURE, EREFEMADUTEK: 68
ERER S FRSCERART S E, REEEED G4 50 7. FHEmERit, £iars
o 3SRERKMS, EERBIGL 8017, HEBMEREL 1045 HEH.

B SRR — A TR A, SRESUEH 5 AR, 20 48, B8 240, B8
BRI Yy 35 480 SAVCE7E 1000~1200 2 [6]. &F4E3C/4 R 200 36, 2NN 300 . B
— B A, AP LT 250~300 Z 8], R H—AREERI A Bk T RA )T, S TE S g A
BEW, SFEAPEL-IREER.

$ESCHAERE 5 R FOE IR B IR SORBEMLE . B IE— MR . ABAE. 3t
3. LM, 2%, BF. L. HESFETE. FRE\EEAN. SRXMIGEX
¥. XPHRKBRAL, MNEEEYN, 2FEROER. BREICHEHE LIGE
A MRUTRAMELZ —: 1) WRE TR & O RERE R AR
2) AEWMXEEROAL, MAL. HEH.

—. BH2xR

AR R RR, B REKEESUSHRBIE MMM, ik, @ T &R
WS, BHgGIEX, TEAUTHMAXH. T8, RiTE. AYERENE. LT25
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1. £ FHE
FEEFEMLE AN BEREXREXPR—BEENERES . TEREEBEE ]
HXEAPLCTERBRERE. AR RECHRE. FENSEUREERCHSHIE,
®HERE .
. What is the main idea of this passage (paragraph)?
Which would be the best (most suitable) title for this passage (paragraph)?
The purpose of this passage is*-*
The (main) subject of the passage (paragraph) is«
What is the author’s main point?

I R S

The passage (paragraph) is mainly about-

R\EAFL, RFPOEXWE A EBE. X, E—KFRT, HEERTSTU
HE 2~3 P EFHE.

FEEARE RS RIS ENFEA. EEE-BEEREMMEE: (D ZEANER K
BB, BP, TRAEXERBRENZON; () 5FEHRME. BT, EERRAKER
HEFREX. RUBTUHBEXENTFE, BT EREXENRE, SEXENSE.

1.
We find that bright children are rarely held back by mixed-ability teaching. On the
contrary, both their knowledge and experience are enriched. We feel that there are many

disadvantages in streaming pupils. It does not take into account the fact that children develop
11



